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TUTER  (Logarithm)—fwdl =ve d&m
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g g, x, NdH T Head 8 fF = N
(@>0,a % 1)dq ¥@F x AMER g W N &
ALIUF HeAr € AN R 39 yHR foar s 2

x=log, N

TAH x = g IR W N 1 T Y&l Sl ¢ |
%7 favw ufifeafaar :

(i) % SR ¥ H D HE IRfm @
&, @ 1 H AT GF YA B T Al R

(1]
[ a =1,

(i) fFst dem %1 e fas smur ad
e R, | B 9O e ¢ |

log,1=0 I

l a=a, .. logua=ll

LTS & §/P Faw

(i) log (m x n)=log m+logn

(i) log, % = log, m—log, n

(iii) log am” = nlog m

(iv) log,a= oz

loga
logb

) log, a=

1
(vi) log . N = rs fog, N [ a>0]

(1) log,, 1=0 (2) log,e=1
(3) log, 1=1 4) log 10=1
' [BPSC, 2002]
logx _,
loga
(1) loga (2) log x
) xla (4) x—a [BPSC,2002]

log m + log n fFgs TR ? ?

(1) log(%) @) log (mx r)

(3) log (m") (4) log (n")
[RRB =wEhg, -2003]
log, 64 =1 T frad aTR 22
(1 2 (2) 4
(3) 6 “ 8
[RRB wvEhTg, 2003]
log,, 144 + log,, 169 =?
(1) 4 Q@ 6
(3) 8 (4) 5 |BPSC,2002|
log,, 100 +log,, 1000 T UK 2—
M s ) 10
Q) 8 (4) 4  [BPSC,2002]
. 3 log, 125 +1log, 8 =x,7 x=2
(1 3 ) -3
3) % @) ¥ = T
[VLW, 2002]
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8.

10.

11.

12,

13.

14.

15.

il 130 4
21 21 -1 — -
Og(l3)+ Og[ 33) Og(g)mm%

(1) 2.4431 () 2log2
26
3) logﬁ @) 2log5
[RRB 7@, 2001]

%log,025—210g,03+log,018 HT GEdy
T —
1) 18 @) 1
() log 10° (4) ¥® ¥ ¢ =

[@E-3teRT, (U.P), 2002]
[log,, 50 +1log 40 +log 20 +log, (2.5)]=?
(M3 “4) 4
3 s 4 10

[RRB situret, 2001]

log%—zlog5 +log£ 1 HHA B—

243

Mo @1
3) log2 @ -1

[BPSC, 2002]
log 5 +log 20 + log 24 + log 25 — log 600 = ?
1o (2 2
33 “@ 4

|BPSC, 2002]
log,, (:2;%]_10&0(2;]“0 '°(§§) ?
1o @1
3) 2 @ 3 [BPSC, 2002]

[10g§+log§56—+log12] 1 A fHud 9uA
22

(1) log5s 2) log3
3) log2 4 o
[RRB |T&AT, 2004]
26 119
log == +log— _
ogoy +log= W A Fa ¢

(1) log26-51 (2) log3-log2

SHTIH

16.

17.

18.

19.

20.

21.

22.

23.
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26
(3) log2-log3 (4) 210g(§)

G) FHISE = [erfaRe AT, 1990]

log,, 125 - log, 4 %1 T BT ?

1 2)0

3 2 4 2-5- SSC, 2003

3 3 @) T 1SSC,2003]
- ' H WH B—

o )1

3) -8 (4) log x5°z? [LIC, 1999]

afg log3x=—2,?ﬁ x & HA 2—

1 -9 (2) -6

3) -8 ) -;— [Clerk Grade, 2005]

TRET ¢ = p> -3 | x H AH T—

3logd 3logh
M loga—-2logb 2logb-loga
2logh 3logh
©) Slogh—loga loga—'3logb
[RRB TR@YY, 2001
A log, (¥ —4) =57, A x TMN—
16 2 -1
(3) 1T 2" (4) 2 [BPSC, 2002]
fem o @ log s (x+1D) =2, A x dm—
Mmo 2) -1
3) 0 4) 2 [BPSC,2002]

Ifg log(2+3+x)—10g2+log3+10gx%’l a
x Tm—

(1 0 Q) 1

(3) 10 4) T A = &
[BPSC, 2002]

If 3log2 +2 log 3 +log 5 =log k&Y, @ k'l

oA BF— '

(1) 360 (2) 420

(3) 480 @) ¥ q w5 T
[BPSC, 2002]
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24. A logx + log,x =6, @ x =2 33. log,, 2 =1 W TM—
(1 2 Q) 4 (1) 0.25 (2) 0.50
3) 8 (4) 16 [VLW, 2002] (3) 075 (4) 1 [BPSC, 2002]
25. 3 log,x +log, 5=2, W x & 74 &— 34. 16 log, 5 %1 91 gM—
5 S a s @) 16
M 3 @ 3 (3) 25 (4) 78 9 5§ T
[VLW, 2002]
(3) 10 (4) 20 [BPSC,2002] 35, log, a x log b x log, c="?
26. IR log,, (x*~6x+45)=2 7, A x H 4 2— o @) 1
(1) 10,5 @ 11,-5 (3) abe (4) 11 abc [VLW,2002]
() 69 @ 9.-5 36. 3 log£+ log£= log(a+b), d—
[RRB ggTaTE (ASM), 2002] @ a =l;) a @ d+ b=
27. log,,2¢*9=log 512, x =1 A1 TI— 3) a+b=1 @) a-b=1
(1 2 @) 5 [BPSC, 2002]
@3) 0 @) % [MAT, 2001] 37 afg 1log(a+b)=log9 +loga+logh, o
2 A
28. log 3*-2=log 81, dl x F1 WM TFTI— :1;) Tla:l"fﬁ’ﬂ @) 5 ab
(16 @) 3 (3) 9ab (4) N ab
38. log a+log b =log (a + b), A &M—
29. A log, x + log, x + log, x = 11, @ x &1 A () b=a @) b=2a
m_ a a
(1) 7 @) 128 @) b=—= @ b=1—2
. (3) 25 ) 27 (5) 7 q = 7=
(5) ¥ @ =g T [1B, 2003] [rfET I 1990 SSC 2008]
30. I logx—5log3=-2, A x & ¥F &M— 39, AR Ax) = log, x, A fe'*) 1 A fer €M 2
(1) 0.81 () 125 1 )2
(3) 2.43 4) 3.20 (3) 10 (4) 100 [BTC 2002, SSC 2009]
[T 7T, 1991] 4 [l+%log,ol6—3log102} S
31. log,,, 61 HI1H m— (1) log,,5 (2) log, 4
(1) ssR6m T (2) 4 (3) log, 2 (4) 1 [BPSC,2002]
(3) 025 4) 216 log8-log4 —9
G) T A LT [elaReids, 1990] I loglz-log6
32. log, 16 &1 W B — (1o @1
ay 16 @ 4 Q) 3 (4) 4 [BPSC, 2002]
. 42. 7R log,, 2 = 0.3010, A log, 10 3—
3) 8 @ 7 (1) 3.3220 @ 5
(3) 03322 4) 3.2320

(5) FH @ =K T [3fmee g, 1990 RRB2009]
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43. f% log 2 = 0.30103 3 log 3 = 0.47712, @
log 18 &1 WA BIM— 52.
(1) 1.25527 () 123172
(3) 0.77815 (4) 1 |CBI, 2005
44. TR log,, 3 —0.4771, 7 log,30* 1 A B—
(1) 4.771 (2) 1.9084
(3) 5.9084 (4) 19.084
G) I T [eifeRe s, 1990)
45. 3% log 8 =0.9031 3 log 9 =0.9542, 7 log 53.
6 W1 A B—
(1) 0.7781 (2) 0.4532
(3) 1.729 @) 2.729
[Clerk Grade, 2001]
46. af% log2=0.3010 3iR log3=04771, T log 54
(3240) 1 W B T—
(1) 0.6020 (2) 2.9084
(3) 3.5104 (4) 4.5321
G FAM T  [afaee s, 2001]
47. af% log 8 = 00.9031 3R log 9 = 0.9542, @ 2 55
log 6 1 A SRT—
(1) 0.3010 (2) 04771
(3) 0.7781 @1
(5) = ¥ =g T [3rfaE T, 1991]
48. IfX log 27 = 1.431 &, q log 9 TR T—
(1) 0.934 (2) 0.945
(3) 0.954 4) 0958 56.
) 7 aﬁé & [sfERe Ts, 1993 MBA 2008]
49, log8+ log T TM—
(1) 6 Iog2 (2) log2
3 0 @1
(5) 7 A o T [rfedz I 1991, RRb 2006] .
50, afx logsm+log8é=-§- B, @ mw WA —
(1) 24 () 18
3) 12 (4) 4 [NDA,2003]
51, 9% =k=c @ @ log,a=log ¥, @ 58

frafafed § @ 9-9 & 98 ? ?

1) y'=xz (@) x*=yz
() Z=xy (4) y=xz |NDA,2003]
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o 125 %3125 N
8s 625 x§/§ +l A —
5
1) g () 5
(3) log,2 4 log \2
[RRB geETETg, 2003]
BRI log, 7= a®, logl0(70) H A B—
a
M % ) m
3 (+a) 4) (1+a)
[CDS, 2003]
g log2 =7, log 80 & WA T Hi—
(1 18 (2) 16
(3) 22 @) 14

[RRB 3EwcETe, 2004]
X a, b, c A Hhw (WWR) iF 2, T
log (1 + ac) TR 3—

b
(1) log (2b) @ log(-z-]
3) 2logh 0] %logb
[RRB W&UTE, 2004]
log7
1
M1 @ 5
1
32 @ 7
(5) T A FE T (o AT 1990, SSC 2009
X log, a =4, a % WA BW—
1 12 ) 81
(3) 64 @ 32
(5) 79 A FE T
. Ak log, [log, (log, x)] = 0 & x %1 HH Bm—
19 @) 15
31 4 2
(5) 7 | + T [SSC, 2006]
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I
59, log,,\/3_=g. @ aH WA BT—

M B @9 327 @3
60. A log,, 2= a 3 log,, 3=, log 52 1. (3) - log 1=0

TR FM— - log 1=1 3@ ¥ |
a+b 2a+b ¢
M l+a ) I+a log - =log, x
5y ax2b 4 29*h 2D oga T B
3) l+a “) l-a 3. @ tIFIIIog¢m=a3?l'(log¢n=b
G) FIAFE T [arfe Uz, 1991] cm=edR n=e
o log‘((IZS)(GZS)) o T o (mXn)= e x = gath
| (1)~5 » @) 6 v b= log,(mxn)

<+ =
3) 725 @) 3135 @, log,m +logn =log, (m x n)

) FATE T Rz ds, 10 ¢ ) log,64=log, & =6x1=6

62. log, 8 x log, 4 %1 WA ThI— [ log,a=1]
M1 @ 2 5. (1) log,, 144 +log , 169
(3) 0 (4) 4 = I°g|z 122+10g” 132=2+2=4

) IR PRI, 191 6 (1) 1ox 100+ ] 000
63. A log m=b log 10— log n, W m ST BFM— (1) log,, +log,,

(1) bn ) 10n-10%n =log,, 10° +log,,10°=2+3 =5
10 7. (1) x =log, 125+1log 8

(3) b-10" 4) — M Bio Bio
n = log,, (125 x 8)

©) FHIF A e I, 1991) = log,, 1000 = log,, 10°=3

8. (4 2 log( ll—;) +2 log(%) - log(g)

.G 22 3.0 403 50 1o (llxllxl30xl30 g)

6.0 1.0] 8.@| 9.@]10.0) I3x13 33x33 4
1.3)] 12.0] 3.0l 4@ 150 = log 25 = log 5= 2 log 5
16. 3] 1.0 18.@| 19.2)[ 20. 3 |
2.09)] 2.0 3. ()| 24 @] 25.(4)] 9 @ 7logi25~2log,,3+log,,18
26.2)| 27.2)| 28. ()| 29.(5)] 30.(3) - log, 25+ - log 3 +log, "
3.3 32.0)| 3.0 34.] 35 2

36.3)| 37.(1)| 38.3)] 39.4)| 40.(1) =log,* —log,’ + log, ,'*

4. 2. 43.)] 4.3 45.(1) log (§x13)=log o_|

46. (3)| 47.(5)] 48.(3)| 49.(3)| 50.(1) 9 10

S1. (D] 52.(2)] 53.(4)| 54.(3)| 55.(3) 10. (3) logm"'+loglo‘°+logw’°+Iog,o(2.5)
56.(2)] 57.)| 58.(»n] 59.(3)| 60.(4) = log,, (50 x 40 x 20 x 2.5)

61. (1)) 62.(1)] 63.(4) = log,, 100000 = log,, 10°=5x1=5
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11. (3)

12. (2)

13. (1)

14. 4)

15. 3)

16. (3)

75 5 . 3
log-r= ~2log 5 +1
816 789 %03

=lo zz—log(s)z
16 9

og 75x81x32
16x25 243
log 5 +log 20 + log 24 + log 25 —log 600

—lo (5x20x24x25)
210 600
=log,, 100 = log,; 10> =2

55 65 26
Ing —log,o| — 69 +log,o| — 33

55x69x26
—log, 22X9x20 10 10
OB 6% 65x33 o0

3

lo _§_2_
8243

1 -+l —+lo 12
[og5 og-z*log ]

=log[zx:—6xl2]= logl=0

logg—6-+log 19

91
=log 26 — log 51 + log 119 —log 91
=log (13 x2)—1log (3 x 17) +
log (17 x 7)—log (7 x 13)
=log 13 +log2—log 3 -log 17 +
log 17 +log 7—-log 7-1log 13

log2—log3

[26 119] 24.
=log| —x——

= log[%] =log2-log3
log,, 125 -

_logl25
log25

log, 4

logs’
log5°

log4 _ _log2?

log2’

log 8

17.

19.

20.

21.

22.

23.
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3.2 9-4 5
23 6 6
2 2 2
1) log——+long)—2+logz—_
= log(zz’.iz:;,)— logl=0
. (4) -~ log,x=-2
3i=x
S W |
32 9
(2) . blx -3
q, xloga=(@2x-3)logh
=2xlogb-3logh
4, 2xlogb-xloga=3logh
1, x(2logb-loga)=3logh
_ 3logb
" 2logb-loga
(3) -+ log,(x**~4)=5
q, (-4)=2°
A, =36 x=%6
Q) - logﬁ(x+l)=2
M, x+1=(2) =2
q, x=2-1=1
() log(2+3+x)=log2+log3+logx
T, log(5+x)=log(2x3xx)
qA, 5x=95 q, x=1
(1) -+ log23:5=logk

qA, k=8 x9x5=360
(4) log, x+log,x=6

1

q _og;zi.plog’x:G

' log,4 :

3log,

a, og_x___6
-2 .

91, log,x= f2=4

J
q, x=2'=16




Times: YT siwafora Sagir Ahmad
ot fafe 30. (3) logx=51log3-2log10
log, x +log, x=6 =log 3° - log 10?
., 1(1)g22x+logzx=6 = log243—log100=logfgg
W, log; x+log,x=6 fx=243
3
7, —log,x=6 log,, 6 log,, 6
28 31. (3) logime6=7 B~
@, logx=4 - x=2=16 0g,, 1296  log,, 6
e fafe . log,, 6 l=0.25
q & log,x=y W, 47=x 4log,,6 4
qe log, x=6-y q, 20-r=x gadt fafa :
AT=2077 M y=2 loglz%6=log646=%log66=ilogv= 0.25
log, x=y# ik
it log, x =y y 1 T@ﬁ:“’ 32. (2) log, 16 = log, 2* = 4log, 2 = 4
log, x=2 qA, x=4=16 33. (1) - log,2
25. (4) log, x+log 5=2 ’
10 10 X R _1_025
M, log,,5x =log , 10 log.16 log,2' 4 .
= 2 =
x=20
26. (2) log,, (x*—6x+45)=2 log,62=logz+2=ilog22=i=0.25
AW, (x—6x +45) = 10° = 100 4 4
@A - 6x—55=0 34. (3) w5 16log, 5=k
7T, (x—ll)(x+5)=0 Qﬁf‘m’laﬂ log?ﬁ o,
@, x=11 q -5 log, k= log, 5. log, 16 =2 log,5
27. (2) log, 2*9=log, 512 =log, 2° = log,5* = log, 25
@, (x+4)log,2=9 log, 2 1'.161;251 o d e 1 o2
. = = = X =
W, (x+4)=9 . [2') e g o :
. x X
£=9-_4=5 (2) log, axlog, og, ¢
28. (1) log 3*-2=1log 81 =log 3* =log,0axlog|0bxlogwc=l
QA x_2-4 log,ob log,, ¢ lqgloa
S x=6 36. (3) log£+log—b—= log(a + b)
29. (5) log,x +log,x+log, x=11 b a
M, log,’x +log?x+log x=11 a, log(g—x-b—):log(cﬁb)
a
M, %log2x+-;—log2x+log2x=ll T oa+b=1
3 H
37. (1) 2log(a+b)y=1log9+loga-+logb

11
g7, —log,x=11
" s g

@, log,x=6 Sox=20=64
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log (a + b)* =log 9ab
S (a+b)P*=9ab




Times

q, a* + b*2ab = 9ab
La+b=7ab
loga+logb=log(a+b)

45. (1)
38. (3)
N, logab=loga+b
qd, ab=a+b
A, ab-b=a

p=-2_

a-1

fx) = log x
s fe'®) =log, e =100

39. 4

40. (1)

[l+%log,o 16-3log,, 2]
1
=[l+log,,(16)* - I°g10(2)3]

= [log,, 10+ log 4 - log,, 8]

10x4
=log,, (T) =log,5

log8-log4 _ log8/4 - log2=
logl2-log6 logl2/6 log2
log,,2=10.3010
q‘r’ 2 = 100,3010
1, log, 2 =log, 100%°
a1, 1=0.3010 x log,10

- log,10= _1__1000 =3.32225

0.3010 301
gt fafir :

log,10= ———=———-=3.32225
- log,,2 0.3010

(1) log18=log(2x9)
=log (2 x 3?)
=log 2 + log 32
=0.30103 +2 x 0.47712
=0.30103 + 0.95424
=1.25527
(3) log,30*=41log, 30=41log, (3 x 10)
= 4[log,, 3 + log,, 10]

1 47. (5)

41. 2)

42. (1)

48. (3)

43.

49. (3)
44,
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46. (3)
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=4[0.4771 + 1] =4 = 1.4771 = 5.9084
log8=1log (2y=31log2
= 31log2=0.9031

- log2 =0'—9;)ﬂ= 0.3010

T: log 9 =log (3)* =2 log 3

. 2log 3 =0.9542

1, log3=0.4771

T, log 6 =log (2 x 3)

=log2+log3

=0.3010 + 0.4771 = 0.7781

log 3240 =1 +log 324
=1+2logl8
=1+2log(2x3x3)
=1+2[log2+2log3]
=1+2log2+4log3
=1+0.6020 + 1.9084
=3.5104

log2°=0.9031 4, 3 log2=0.9031

- log2=0.3010

adr log 32=0.9542 4, 2 log 3 = 0.9542

. log3=0.4771

4, log 6 =log (2 x 3)
=log2+log3
=0.3010 + 0.4771 = 0.7781

~ 2log 6=2x0.7781 =1.5562

-+ log27 =1.431
41, log 3° = 1.431
4, 3 log 3 =1.431
a1, log3=—l%

91, 2]6g3= x2

1.431]
3

- log 9=0.954
1
log8+log—~
g g8
=log8+logl-log8=0




Times—

50. (1) loggm+log—

ull\) wlN

3

qu, lOgs (

o |3

™

I 3

]
~—
o0
~—

-,

=24
51. (1) aF=b=c
4, xloga=ylogbh=zlogc

S o

loga _y logh =z
* logh x loge y

a, log,a=2 i log.b==
x Yy
YIAISNR,
log, a=log b

Y

q, —\,‘= q, Yy =xz

y
[lesxi/slz }
Y625 x 45

3\l/4 SyI/58
=|0g5[(5) x(5%) ]

52. (

(SJ)I/.‘\ X(S)IN
§3/4+5/3
= logs 54/3+1/4

l9 10 5
4() =TT ==

2 6
53. (4) - log,, 7=

1 .
- log,, (%) =log,1 —‘logl0(7 x10)

=0-log,7-log, 10
=0-a-1=-(1+a)
54. (3) -~ log2=7
log 80 =log 2?2 x 10
=3log2+log 10

it s
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=3x7+1=22
55. 3) a=a,b=a+ 10 c=a+2

s log (1 +ac)=log [l + a(a +2)]

=log [a* +2a+ 1]

=log [a+ 1]2 2log(a+1)=2logh

——log7
56. (2) log7 _3 1
log7 log7 2
57. (2) log,a=4
7, 3=qg . a=81
58. (1) log, [log, (log,x)] =0
A, log, (log,x) =5°=1
q, (log, x)=2'=2
x=3*=9

59, (3) log, V3 =-é—
l/6=\/§
3 a=(J§)°=3’=27

Iog12 log12

log,12=
60. (4) log; log5 1o 10
%67

_ logl2 log(2x2x3)
log10-log2 1-log2

_2log2+log3 _2a+b
1-log2 l-a

61. (1) log, (125 x 25)
=log, (5 =5log,5=5

1
62. (1) log.8xi ik

4

63. (4) logm="blog 10—-logn

10 10
|Og— om=—
n

O
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